SR9221 - KR9221

MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO - MONORACK ESPECIFICA

CFMOTO MULTITERRAIN 630 MT (2021)

N° Descrizione/Description Caratteristiche/Features Codice/Code Quantita/Quantity
Supporto superiore - Support higher - Support supérieur _ GNB2879DX P
1 Halterung hdher - Soporte superior - Apoio superior GNB2879SX g (nght' Left)
Supporto inferiore - Lower support - Support inférieur _ GNB2880DX .
2 Soporte inferior - Untere Halterung - Suporte inferior GNB2880SX 2 (nght: Left)
Vite - Screw
3 Vis - Schraube M8x70 TEF 870TEF 2
Tornillo — Parafuso
Vite - Screw
4 Vis - Schraube M8x20 TBEI 820TBEI 2
Tornillo — Parafuso
Vite - Screw
5 Vis - Schraube M8x20 TSP 820TSP 2
Tornillo — Parafuso
Rondella spaccata - Split washer
6 Scheibe - Rondelle fendue Foro @8mm 71060 2
Arandela seccionada - Arruela Dentada
Rondella - Washer
7 Rondelle - Scheibe Foro @8mm 8RON 2
Arandela — Arruela
Rondella - Washer
8 Rondelle - Scheibe Foro ”3"‘;" 2553‘:1:‘1“ B2émm 258RON 2
Arandela — Arruela P
Distanziale - Spacer
9 Entretoise - Distanzstueck 014x15 Foro 8,5mm C14L15F8,5T 2
Distanciador — Espacador
Dado - Bolt - Ecrou Dado Autobloccante Flangiato M8
10 Mutter - Tuerca — Porca (H.9.5mm) 8DADIFN 2
" MOUSSE 35x100mm MOUSSE2 1
Particolari Inclusi Nel Kit Viteria Della Piastra
Components Included In The Fitting Kit Of The Plate
12 Pieces Inclues Dans Le Kit De Vis De La Platine _ _ _

Die Einzelnen Teile Sind Bei Montagekit Der Platte Enthalten
Despieces Incluidos En EL Kit De Anclajes De La Parrilla
Explodiu Incluido No Kit As Ancoras Da Grelha

RUZIONI DI MONTAGGIO - MOUNTING INSTR
NSTRUCTIONS DE MONTA AUANLEITU
0 DE MONTA DES DE MON




SR9221 - KR9221

MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO - MONORACK ESPECIFICA

CFMOTO MULTITERRAIN 630 MT (2021)

M8x20mm

GNB2879DX/GNB28795X GNB2880DX/GNB2880SX

GleleJOl = Te JO |

Hole @8mm

OSSNSOy 4
Hole 88mm/ Hole 88,5mm/ M8

External §24mm/  External @14mm/
D.2/3mm H.15mm

ATTENZIONE: PESO MASSIMO SOPPORTABILE 6Kg.
WARNING: MAX. LOADING 6Kg.(13lbs)
ATTENTION: CHARGE MAXIMALE 6Kg.

ACHTUNG: MAXIMALE BELASTUNG 6Kg.
{ATENCION!: CARGA MAXIMA AUTORIZADA 6Kg.
ATENGAO! CARGA MAXIMA PERMITIDA 6KG

Hopee

Hole #8mm

%@ 4mm | 5mm

10mm / 13mm

| CHECK THE SCREW LENGTH HERE I

r—
=

Y et
—
| -
T

=




SR9221 - KR9221

MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO - MONORACK ESPECIFICA

CFMOTO MULTITERRAIN 630 MT (2021)

( LEFT SIDE/RIGHT SIDE )

a——

*—i— T i

REAR SIDE

UNTING INSTRUCTIONS
- BAUANLEITUNG
TRUCOES DE MONTAGEM




SR9221 - KR9221

MONORACK SPECIFICO - SPECIFIC MONORACK - MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO - MONORACK ESPECIFICA

CFMOTO MULTITERRAIN 630 MT (2021)




